
Determine the Greatest Common Factor of the Following

3𝑥, 2

15, 12 6𝑥, 12𝑥 14, 22𝑥

50, 75𝑥 100𝑦, 30𝑦

2𝑥ଶ, 4𝑥 5𝑎, 25𝑎ଶ
15𝑛, 7𝑛ଶ

16𝑖, 12𝑖ଶ
45𝑥ଶ, 27𝑥 13𝑦ଶ, 52𝑦 

2𝑎, 4𝑏
5𝑛, 8𝑎 15𝑥, 33𝑦

14𝑦, 21𝑥𝑦 21𝑎𝑏, 9𝑎
8𝑥𝑦, 12𝑥𝑦

9𝑎ଷ, 15𝑎ଶ 22𝑥ଶ𝑦ଶ, 6𝑦ଷ
𝑎ଶ𝑏ଷ, 3𝑎𝑏ସ

2𝑎ଶ𝑏ଷ, 3𝑎𝑏ସ, 6𝑎ଶ𝑏ହ 15𝑥𝑦ଶ, 27𝑥ଶ𝑦ଶ, 12𝑦ଶ𝑥ଷ

6𝑦ଷ, 22𝑥ଶ𝑦ଶ
6𝑎ଶ, 22𝑎, 8 

9𝑥ଶ, 21𝑥, 33

4𝑏ଶ, 44𝑏, 11

3𝑎ଷ, 2𝑎ଶ, 5𝑎 15𝑠ଷ, 25𝑠ଶ, 45 

21𝑡𝑠ଶ, 14𝑡𝑠, 49𝑡 
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2𝑥 + 4 12𝑥 + 8 3𝑥 − 12

3𝑥 − 21

−4𝑥 + 12

2𝑥 − 10
6𝑥 + 4

3𝑥 − 3

10𝑥 − 5

4𝑥ଶ − 8𝑥 2𝑥ଶ + 5𝑥 10𝑥ଷ − 5𝑥ଶ 2𝑥ଶ − 2𝑥

4𝑥ଶ + 8𝑥 + 12 4𝑥ଶ + 8𝑥 + 6 10𝑥ଷ − 20𝑥ଶ + 10𝑥

−18𝑥 − 6

6𝑥(𝑥 + 5) + 7(𝑥 + 5) 𝑥(𝑥 − 2) − 6(𝑥 − 2) 7𝑥(2𝑥 + 5) + 3(2𝑥 + 5)

6𝑥ଶ + 12𝑥 − 3𝑥 − 6𝑥ଶ + 3𝑥 − 2𝑥 − 6

1 + 𝑥 − 𝑦 − 𝑥𝑦

𝑥ଶ + 𝑥𝑦 + 2𝑥 + 2𝑦 2𝑥ଷ + 12𝑥ଶ − 5𝑥 − 30

−2 − 𝑥ଶ
−8𝑥 − 4

−3𝑥 − 9

2𝑥ଷ − 6𝑥ଶ − 9𝑥 + 27

Factor the following

2𝑎 + 2𝑧
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